rotoric

Controls

ROM I} ROMpak 2l%0{|0|E

90 3|H™ H7|
ol =0f|0|E

Keeping the World Flowing



rotorie

Keeping the World Flowing

g
(=]
e

2 oiS2|Alo|M

0z
Hir
rlo

=
2

xO= = =
st g0l ¥ 2 mj ==Y Nx=&H
o O iz =
M| £ 2 ) 25d st
B2 OfE2(7(0[M & 2t CHEH =5t oFE Y, Rotork &2 Ltdut OfE2|AH0|ME 7|8t 2 dAIE X
AX|L} &F¢f Rotork MZE2 FX0|1 EE8MO = HSFLIC 60'H0| E|UELICH
Malo| Alis Sof 2= 3FE HE FHHHES2 2
OiZ2[AH0[0l| AEE == AFLICE
H MiAI= Q! Mu|A X2 AHE2XL
(-]
27 9 MH|A BEAH U2 HiE
Rotork= &7| F25E MZE &X|7HX|, Eoff = 71 7[2tap 174 DEO| & UK feB = |A|H|S0| XA S11 gH|et
@ Z=as I7Ho] ZA| sl Znt 22 si2xo =EE S8 A 2249 E =OrELLE

FAUSUCL

> @EOCN  RoMm T ROMpak 2%0]0|Ef

Controls




ROM 2} ROMpak 2#0|0|E

R H|0|X|
HE 7 4
ROM and ROMpake| EZ 5
7A 2 ™| H|o|H 6
SIEE 2 M 8

H|Z X|4= H|O|E 10

Ciokst MAL0|M 220]=
Rotork HZ&

Rotork M|Z1} AMH|A= H M|A =2

31 X2/, HVAC, o, B 5= ot 8 512 32014
SE2Ms AP, oINS EESN, 2HE S ESolY| fIs
AHEE|1 UELICH

>H
T
)
B
1z
| :|0
pL=
A
1>

MAl Zh=of] #ix]2t

EE MH|A

Mo Qs 22 M|,

M7 R0l SIR|FH 245 MH|AMES EfAlet xhelo| CHE
2 M| AS HIBELICH

I8

JlJII {.%

HMHol 7|2 oIt

AZe| HEZR

ARG IHS2 MR, 7tA B 2O SES QG
2|5t ATl 2 M Rotorkol| 2/FESHD QU&LICH
- .

szt gl

ALElH 71

Rotork = MAZQl= 7P 2 £/ O| HIELIAE 2|EE

Keeping the World Flowing




H =1L

MAX 2= Fofh AFOO|E MUK S HFFAR
Rotorkis A2|dat LI o] Fofih ZFH|YR 2N 552
Et ¢*|S0| F2ist=s HS HotgtELICt

O™ BHA0|ME EFSHX| b= AE2 HIE S 2 503 EA 27|zt
=0t Rotorke AME|M S AESLICE Rotorke= ROM 2 ROM pak
AFOO[HE IHLTC 2N AHUE0|| CHSE flEoti AZN =2
FEE AFO00|HE 7HLStASLICE

Rotork ROM 2!0§|0|E{:

b
0

o A2 MO|=

o JIHR =

e On-off duty

o CRY, 34, DCHIX 2H

e Self-locking*

Rotork ROM 0f] ZAEE PAK SM(ROM pak)
o ZZZEE

e DE{9| phase 3| EH

e Network =&

o OfE=ZI MO H L= AL Ths

*ROM 2/ ROM pak 2,3,4,5,62Z0f0|E{ofat HE7}5

O ROM 2t ROMpak 2%0i0Ef

Controls




ROM 2} ROMpak

ROM & ROMpak YZ&0f|0|E&=

= :canl
— o TT—i
oeotofL2) B 3 87| 2

A
P
e 20|l cisto Z&3stn erg={el
2SS MSYLICE O] ME2 ZHeler a7 22EA7] &
=3 MAY g8 MSYLT

s%:
ROM ROMpak
P68 1P68
Enclosure HEXI- BEA S22 HiRl-BpA S
2z == 2l ==
e Aluminium Alloy Alun;ingJHOV
ZatA
Dry powder ZE/T}
It I
ozt Dry powder RE! g
2
o HFE SSAMOIZ SE{-S3.
ZEROM Z! ROM pak‘— FREASE
SR
o E 9X0i|0|E HHL|0| IX|EA|I7|S 7HX| 1 JSLICE
L5 55 #E
o SRVt gl= CIXRICE HHA| 22{X| = 22|03 glo|
Alute x5 3 4 YLt
o DE{J}EZE if, ROMH-1to ROMH-3, ROM-1 2 ROM-AS
Helst 5 2t = SZI0|X| ZELICL

710 EzlQl
e High alloy steel 7|0{ E2f|ol2 2 ASEH* BIX|E 2|3l self-
locking 7|s& 7X|1 &LICE

«  ROM-1 9 ROM-A 2 S3 0{Zaj7{0|Mojl N HE=to] 7t
&850l spurz|o{Ea|elo 2 A=lof YLich

or
rol

e 7|0 E0RI2 REH|Z 2lal HE2 Yelel 2S5 HE 5 AL

7[AA AEFR

o SkE:30%~95%

o QIEZ| AFO|X M20 x 1.5p

o EIJAQX|*

* ROM 2/ ROM pak 2,3,4,5,62Z0fl0[E{0]|2t X g7}s

2l

ol

e 1SO 9001, CE, CSA, BV

ROM pak 2&0{|0|E{

ROMAZOf|O|E{Of| A SR =TS 2 ROM pak A Z0f|0[E{7t
JHEE|FSLICE ROM pak & 22 HEE, MEHEA| L2} 22|=
ZAEE 3|2 YFolomatic, Pakscanz} 7|Ef EA1 A|AEID} 2tS
Rotork ZAEZE S M1} S8te|= K& Mo ZIEE 17 |XIE 7IX| 2
A&LIct

o XbT, 7iChsbnd ZpECH

e LE9| phase 3|d EH
e |P68 (I0m-100hr S&

o THO[12/24 VDC, 110/220 VACR} 3 &+2| 220/380/440
VAC*, 50 Hz, 60 Hz

o Z2Z HAI7| 4 LEDE S8t fIX| EA|
e ZXtE 2L :-30to +70 °Ct

t Excluding 12/24 VDC.

o SEMA|AHRIZM : Pakscan™, Profibus®, Modbus®,
Foundation Fieldbus®.

e CPT & Folomatic

ROMH 2li%0f|0|E

ROM2!%0{|0|E{0]| = ROMH2H= A Z04|0|E{ = ZEHE|0f QSLICH
ROMHE 12 O{E2AH0|M MEo 2 MAZ(QISLICEL HES
HH7|X|7r£%+EIROM pakHE QU&LICE ROM 2H ROM pake| BE
7|52 ROMH 2f ROM pakHO|ME ALE 7t EFLICE

o 41, 7ICHSID, JHHE N&S|H™ AF0[0|E]

e 90 3|Moh=0]| 4.5%~ 55%

o EHEE

o EAM AAEISM : pakscan, Profibus, Modbus, Foundation
Fieldbus

o OIdZ1 ZIESM} u|=H

o DC ZE{2 CHRE S

t Excluding 12/24 VDC.

Keeping the World Flowing




714 % H7| Hio]E]

ROM % ROMpak

H|7+L1Z H[O]E]

Model ROM ROMpak Manual Output Torque Mounting base designation
Weight (kg) | Weight (kg) override Drive (mm) Nm/Ibf.ft to 1505211 imperial

ROM-1 2 4 Hexagonal Drive 14/11/9 35/26 FO3/FO5

ROM-A 2.8 4.7 Hexagonal Drive 17/14 50/37 FO5/FO7

ROM-2 10.9 13.1 Handwheel 22/17 90/67 FO7
ROM-3 10.9 13.1 Handwheel 22/17 150/110 FO7
ROM-4 25.1 27.1 Handwheel 36/35 400/295 F10
ROM-5 25.1 271 Handwheel 36/35 500/370 F10
ROM-6 25.1 271 Handwheel 36/35 650/480 F10

&2 RAls o 50Hz =

T7| glofg

12V/24V*
Model Torque Speed Motor 12 VDC/VAC CURRENT (A) 24 VDC/VAC CURRENT (A)
No. (Nm) (sec/90°) Power (W) Run Lock Run Lock
ROM-1 35 20 4.2 1.2 2.2 0.6 1.2
ROM-A 50 30 4.2 1.2 2.2 0.6 1.2
ROM-2 90 17 43 2.5 20 1.1 11
ROM-3 150 28 43 3.2 20 1.5 11
ROM-4 400 23 92 1" 42 55 21
ROM-5 500 30 92 1" 42 5.5 21
ROM-6 650 38 92 11 42 515 21

* ROM pakO|ME 12/24 VACAIEE7}.

£t
Model Torque Speed (sec/90°) Motor 110 V CURRENT (A) 220 V CURRENT (A)
No (Nm) 50 Hz 60 Hz Power (W) Run Lock Run Lock
ROM-1 35 15 13 5 0.36 0.4 0.23 0.25
ROM-A 50 22 19 5 0.36 0.4 0.23 0.25
ROM-2 90 17 15 43 1.0 1.7 0.65 1.0
ROM-3 150 28 24 43 1.0 1.7 0.65 1.0
ROM-4 400 20 17 105 1.9 5.0 0.85 2.3
ROM-5 500 26 22 105 1.9 5.0 0.85 2.3
ROM-6 650 33 28 105 1.9 5.0 0.85 2.3

34
Model Torque Speed (sec/90") Motor 220 V Current 380 V CURRENT (A) 440 V CURRENT (A)
No. (Nm) 50 Hz 60 Hz Power (W) Run Lock Run Lock Run Lock
ROM-2 90 16 14 46 1.3 1.8 0.45 0.83 0.58 0.80
ROM-3 150 26 22 46 1.3 1.8 0.45 0.83 0.58 0.80
ROM-4 400 20 17 105 2.45 4.5 0.7 2 0.63 1.77
ROM-5 500 26 22 105 2.45 4.5 0.7 2 0.63 1.77
ROM-6 650 33 28 105 2.45 4.5 0.7 2 0.63 1.77

*2t2] - ROM-1, ROM-A, ROMpak-1, ROMpak-A= HHE{Z2(0| 2i=0j] Z{&t5fX| Z&L/CH

rotor

Controls

ROM 2} ROMpak |%0{|0|E




7|A % H7| Hio]E]

ROMH 2} ROM pakH

H|7+L|Z H[O]E]

Model ROMH ROMpakH Manual Output Mounting base designation
Weight (kg) Weight (kg) override Drive (mm) to 1SO5211 imperial
ROMH-1 2 Hexagonal Drive 14/11/9 FO3/FO5
ROMH-2 2 Hexagonal Drive 14/11/9 FO3/FO5
ROMH-3 2 Hexagonal Drive 14/11/9 FO3/FO5
7| clolg
DC Power Supply Torque Speed (Sec/90°) Motor Current (A)
(Nm) Power (W) Run Lock
12 VDC 5.5 4.75 1.2 2.2
ROMH-1
24 VAC 4.5 4.75 0.65 1.2
ROMH-2 24 VDC 10 4.5 4.75 0.65 1.2
EHa
Single Power Supply Torque Speed (Sec/90°) Motor Current (A)
Phase (Nm) 50Hz 60Hz Power (W) Run Lock
110V 13 4.5 4.3 6.5 0.36 0.4
ROMH-3
220V 13 4.5 4.3 6.5 0.23 0.25
ZtE ™eh: ROM
ROM ROMH
12 24 12 24 110 220 220 380 440 12 24 12 24 110 220 220 380 440
VvDC VvDC VAC VAC v/ v V/3 Vv/3 Vv/3 VvDC VDC VAC VAC v/ v Vv/3 Vv/3 Vv/3
ROM-A v v v v v v X X X ROMH-1 v X X v X X X X X
ROM-1 v v v v v v X X X ROMH-2 X v X X X X X X X
ROM-2,3 v v v v v v v (4 v ROMH-3 X X X X (4 v X X X
ROM-4,5&6 v v v v v v v v v
ROMpak ROMpakH
12 24 12 24 110 220 220 380 440 12 24 12 24 110 220 220 380 440
VvDC VDC VAC VAC v v v/3 v/3 Vv/3 vDC VvDC VAC VAC v/ v Vv/3 Vv/3 v/3
ROMpak-A v v X X v v X X X ROMpakH-1 v X X X X X X X X
ROMpak-1 v v X X v v X X X ROMpakH-2 X v X X X X X X X
ROMpak-2,3 v v X X 4 4 4 v v ROMpakH-3 X X X X (%4 v X X X
ROMpak-4,5&6 ¢ v X X v v v v v
*2+al : ROM-1, ROM-A, ROMpak-1, ROMpak-A= BIE{Z2}0] B off Xatstx] Q&L ICt
Keeping the World Flowing 7




Y —~
\1J Refer to table \1)
ogELECToR McB e v Lst seLecTon | MCB Refertotavie
~° @onsw O SwitcH
MOTORY\| | MOTOR OFF 0—0 o
o 2 (Do
e FULLY OPEN b @ 0\5 Ls2 FULLY OPEN s g
FULLY CLOSED
[ ® 3 FULLY CLOSED
Tels]a]sl2] Q) o
Ls3 7
. (1) S CONNECTS TO 3 FOR =

Ls3
_v\07® (1) S CONNECTS TO 3 FOR
I'A_ “OPEN’, S CONNECTS TO 4

FOR "CLOSE"

“OPEN’, S CONNECTS TO 4
FOR "CLOSE"

'

HEATER LS4 —
—v\°_® (2) HEATER,LS3,L84,TS1,TS2 HEATER

o I

AND POTENTIONMETER ARE
ROM23456 ROM 1 & ROM A

Ry Ry

el
B

il

(2) HEATER,LS3,LS4,AND
POTENTIONMETER ARE
OPTIONS.

OPTIONS.

Il

OPEN LOSED
——— CLOS @

OPEN 3} CLOSED O

Actuator Power supply P S Actuator Power supply ) S
12v DC + - 2V bC N -
12/24V AC/DC SUPPLY 20y nc T 12/24V AC/DC SUPPLY 207 T
12VAC N L 12V AC N L
28V AC N L 24V AC N L

@ o

MCB  110/220V AC
1-PHASE }@WS&&%&L"“ MCB 11‘%2&2\3155
© OFF 0—0- o
_ ° .CLOSE o
% Ls2 FULLY OPEN D %
e e FULLY CLOSED)]
HmEATER (7——o HEATER @_®
53 o (—
1S3 ol
A (1) L CONNECTS TO 3 FOR _‘7\°7® (1) L CONNECTS TO 3 FOR
I"_. “OPEN’, L CONNECTS TO 4
® FOR "CLOSE" I'A_ “OPEN’, L CONNECTS TO 4
ROM23456 = ROM 1 & ROM A oa |_© FOR "CLOSE"
_v\o_® (2) HEATERLS3,L54,T81,TS2 OM 1&RO e |
2 ® AND POTENTIONMETER A—@ (2) HEATER LS3,LS4 AND
ARE OPTIONS. POTENTIONMETER ARE
—<:) ® OPTIONS.
10 10
SINGLE PHASE — 8 SINGLE PHASE
OPEN_———— CLOSED SUPPLY OPEN CLOSED SUPPLY
e H

221X
S NESIE[=ROM-2, 3, 4,5 & 62 HS5t=
AR|XIE RSAIZICE

Mg ZE MO|=0M HETts.

HEATER

o FULLY OPEN

® FULLY CLOSED

(1) 1 CONNECTS WITH 3 FOR “OPEN",
1 CONNECTS WITH 4 FOR‘CLOSE”.

(2) IF THE ACTUATOR IS REVERSE
OPERATION,PLEASE CHANGE
TWO OF U,V ANDW AT WILL.

(3) HEATER,LS3,L.84,TS1,TS2 AND
POTENTIONMETER ARE OPTIONS.

ROM23456
THREE PHASE SUPPLY

110/220V AC o
©

17

OPEN —1 CLOSED O

rotor

Controls

ROM 2} ROMpak |%0{|0|E




32x Y

gH

ROM pak 34 3|2&

CIRCUIT DRAWN WITH
POWER SUPPLY OFF

[eze]

THREE
PHASE TRANSFORMER TAPPING
SUPPLY
TAP [NOM 50/60HZ|  50HZ 60HZ
220/230 176-242 | 198-259
200 Y | 380/400 304-418 | 342-446
Z | 4401460 352-484 | 396-517

FS1
|| seLECTOR I
?

l o

SN

TS
12 3a|SK7
LOCAL W
CONTROL 1111
PCB sK1| |sk.2 sK3
=i :
:% NOT USED
STOP
REMOTE-LOCAL
= S1
MONITOR
CLOSE-OPEN
S2
REMOTE
seLecTep | — Lo
—— = SK.24
|LS3 I |
LB
=
|LS4 |
st
- OPEN
LIMIT = OPEN COMMON
TORQUE — STOP/MAINTAIN
AND — STOP/MAINTAIN COMMON
POSITION s CLOSE
SENSING CLOSE COMMON
_ ESD
| Esb common
NOMINAL +VE 20-32V DC SUPPLY
0V DC SUPPLY

I
I
I
U : .
I
I
I

FS1 - See ROMPAK E672E Installation
and Maintenance Manual

FOR TYPICAL REMOTE CONTROL
INDICATING,MONITORING AND ALARM
CIRCUITS SEE PUBLICATION E621E

MAX EXTERNAL LOAD ON S1/S2 RELAYS
TO BE 5A. MAX VOLTAGE 120V AC/DC

MAX EXTERNAL LOAD ON TERMINAL
27 & 28 TO BE 3W

CONTROL SIGNAL THRESHOLD VOLTAGES:
MAX 60V DC
TO BE MINIMUM 'ON' 14V DC AT 1mA
MAXIMUM 'OFF'=3V

MINIMUM CONTROL SIGNAL DURATION
TO BE 300mS.

CURRENT DRAWN FROM EACH REMOTE
CONTROL SIGNAL IS 5mA ON 24V DC

LS3/Ls4
MAXIMUM CURRENT 3A MAXIMUM
VOLTAGE 120V AC/DC

ACTUATOR CONFIGURATION
VIADIL SWITCH sw2

ROM1 DOES NOTSUPPORT
TORQUE LIMIT

REFER TO INSTALLATION
INSTRUCTIONS FOR DIL
SWITCH SELECTION

Keeping the World Flowing




H|Z Xl C|OfE

ROM-A
~
)
v | 32CTS
- Conduit Entries
123
2106
102
N
&>
M8x1.25p
12mm Deep
4 Positions
(1S05211 FO7)
P.C.D&70
M6 x1.0p b
10mm Deep K|
4 Positions - | 1
(1805211 FO5)
2 off
M20 x1.5p
Conduit Entries
Flange type Manual override
mechanism
FO7 / FO5 o
e =
ROM-1
123
ROMH-1 /& N @ -
I ’ | .
ROMH-2 } Option 1 for output shaft }
ROMH-3 | 20mm Deep | 32cTS
I = ! Conduit
| © | Entries
! . 1 ]
| \ | | s
I % =
1 1 -
1 i 1 1
| H*=140 }
P e 1 5
| Option 2 for output shaft }
! |
| 20mm Deep !
| ==
! 1
|
| ! 2106
| PCD@42 ! @102
P.C.DGI36 ! B !
M5 %0.8 | ‘
x9.8p M5 x0.8p !
| .
omm Peep I 12mm Deep }
4 Positions | 4 Positions |
(1505211 F03) i (1505211 FO4)  H*=140 i
méxtop — \» 7~ / )  TTTTTTTT T ;«
10mm Deep I
4 Positions
(1SO5211 F05) g
™
P.C.D@50
Pla g =N
S| .
15mm Deep ' 1 1 '
7
2 off /
M20 x1.5p LU
F|ange type Conduit Entries
FO5 / FO3

N rotoric

Controls

ROM 2} ROMpak 2|%0{|0|E




HIZE X[+ HIO|E]

ROM-2/3

M8 x1.25p
10mm Deep

4 Positions
(IS05211 F07)

@&70.00 P.C.D

25mm Deep

32CTS i
Conduit Entries |

246

345

252 /312*

L

2 off
M20 x1.5p
Conduit Entries

@115
140

M10 x1.5p
20mm Deep

4 Positions
(1805211 F10)

@ 102.00 P.C.D

40mm Deep

Flange type

F10

Flange type 110 V, 220 V AC 1-Phase
H=252
*ROM-2/3 220V, 380 V, 440 V AC three-phase
FO7 12V, 24 V AC/DC H=312
ROM-4/5/6

318 (with torque limit switches)

249 (without torque limit switches) |

©
32CTS &
Conduit Entries
434 (with torque limit switches)
365 (without torque limit switches)
@ 228
@ 217
N
~
Qll
™)
2 off
M20 x1.5p 2
Conduit Entries - N
sl -
\

Keeping the World Flowing




H|Z Xl C|OfE

ROMpak-A

ffffffffffffffffffff

SN\
8}

,,,,,,,,,,,,,,,,,,,,

Flange type

FO7 / FO5

63

i

225.5

2106

M6 x1.0p
10mm Deep

4 Positions
(1IS05211 F05)

170.5

P.C.D@70

M8x1.25p
12mm Deep
4 Positions

161

194

(1IS05211 F07)

Manual override

mechanism

Flange type

FO5 /FO3

ROMpak-1, ROMpakH-1, ROMpakH-2, ROMpakH-3

77777777777777777777777777

Option 1 for output shaft
20mm Deep

M5 x 0.8p
12mm Deep
4 Positions
(1SO5211 FO4) H*=140

,,,,,,,,,,,,,,,,,,,,,,,,,,

M5 x 0.8p
9mm Deep
y 4 Positions
A (1ISO5211 F03)
M6 x 1.0p
10mm Deep
4 Positions

(1ISO5211 F05)
P.C.D ©&50.00

215

37

114

161

136.5 (H%)

rotor

Controls

ROM 2} ROMpak |%0{|0|E




HIZE X[+ HIO|E]

ROMpak-2/3

M8 x1.25p
10mm Deep

4 Positions
(105211 F07)

L=

Flange type

FO7

25mm Deep

209

252 /312*

H=

115

140

110 V, 220 V AC 1-Phase

H=252

*ROMpak-2/3

220V, 380 V, 440 V AC three-phase

12V, 24 V AC/DC

H=312

ROMpak-4/5/6

Flange type

F10

©
M10 x1.5p >
20mm Deep T — ol
4 Positions & — < o
(ISO5211 F10) X °
= \ 9
= (L )\
©102.00 P.C.D b {/ )
E N s Hﬂh 4
S @
il - ’
40mm Deep % ‘ ] o _ i %

268

318 (with torque limit switches
249 (without torque limit switches)
N I
\!
i 11| BN

527 (with torque limit switches )

458 (without torque limit switches )
@ 228

@ 217

@ 160
172

Keeping the World Flowing




7 K| U S MH|A

= X -

rotoric

Site Services

Rotork 4 F|O[E|= 7+ TITt2 2 Of|E2(7H|0[0f| A
L[t P EE MA 2= IFE D ELICEL &S

—_L—_o= o=
ole MEXIZ|Z X|7|7| /3l Rotork Site Services=

= HOlxo = = [ ADie
UMl 2HES st NHGl= A Y A S

SCharsty| el ZMS Tista AELIC
HH|2 S =R Ct,

o 2 FAPA Mel2 HEE B3 DA B D20l S
U HHIAS HBE 2 ABLICH PAF 3ol 7250l
7|27 HE oz ofZaplojtel 7|a g seize

OIS o8| 5% 3 T2 HlAES SIS JHRID CiLiD Helg
SHLIC 2AtS| XIS 15090010] 2} MRlEl EX)
g t2D e

09 rr oM
ot 1o fo

>R O Rz
—

> 0% A

PN
Al

(O ROM 2t ROMpak 2Z0(0]E]

Controls



NE MHIAE QF8IE E=
2XE 8?5 EXZtol GAb= 7HY WEA S
SEAZES F[A8 g £ AEE HSs £ 4 ASFLICE

SNt HS
Rotork Site Service= 1ZH0f|7| ot ut OS2 HotE MiSot=
A2 MIA Rl F2 oFH gf=1to| 0158 Bt ELICH

Rotorke| AIX|L|02 B2 MAef o alefut oM

&2 4 9l HestSUUch 189 X
A 21 39] 82 Aol w2y CheLict

SrAte] Qx| L{0fo] A2 |0fiL|C} Rotorkis A7 %], HnE

SI317| Slat & M 2 SEalE] o Aol 7(elof ofsf Azl

QOHELICE At DALl oMol £ Zuxt A 582
SN0 REZS| QTARS EE

S SIS |Xlste

AMZdEL e

k! o
N
o

fAbE EAIE I8 XA T Z=E T 1 len ofist 7|Eo Lt
o] 2710f BE0] EX| W MH|AS RHX|2 UAFLILE

II'IA_H'F_I' EI & psset Me,,
& %
Rotork= S2|8 Xp4ke| £=H0j| Cisto] ZIgi0| g‘Mgg
oI5t RpAkRHR] 40| HERILICH &
) 6‘?
RATE W

rotorie
LIFECYCLE

management

00|} S F

e = RotorkH|ZE1} Rotork OF:! MIZ7EX| K|

[ ]
)
o
c
@
4

>

m

a
=

Ul
om
o
i

olt

o
NLa]
18°4
0z

O =
. SX|Ea
o MH|AER(Call-out)

o HHIS ZHE MHIA R

Rotork 11ZH X|¢l =2 124(CSP)
o 32| RHAREIE|0] SHe MEIAS Mei Ths

AZ00]E- 0|45 Salf it

o AH|A BIMolE HIE Eofnt ds el LigOo| 7|xx|0of

Turnaround, Shutdown and Outage Support
o O RXIEs

o AN ST HY Y EHAE Al

e xtsst ME
e OnSite -5 WH XI55}
e On Site -AZ0|0|E wX|

o Off Site -MZ22 Y X}Sst

Keeping the World Flowing




rotoric

Keeping the World Flowing

www.rotork.com

A full listing of our worldwide sales and
service network is available on our website.

Rotork plc EE3 ZEEX I2|0KF)
Brassmill Lane, Bath, UK Rotork Controls Korea
tel +44 (0)1225 733200 tel +82 (0)31 768 8151
fax +44 (0)1225 333467 fax +82 (0)31 768 8156

email mail@rotork.com

Rotork is a corporate
member of the Institute
of Asset Management

As part of a process of on-going product development, Rotork reserves the right to amend and change
specifications without prior notice. Published data may be subject to change. For the very latest version

PUB008-001-11

release, visit our website at www.rotork.com

The name Rotork is a registered trademark. Rotork recognises all registered trademarks. The Bluetooth®

word mark and logos are registered trademarks owned by B/uetooth SIG, Inc. and any use of such marks
Issue 10/16 by Rotork is under license. Published and produced in the UK by Rotork Controls Limited. POWDG0617



